J. Appl. Math. & Informatics Vol. **36**(2018), No. 5 - 6, pp. 369 - 379 https://doi.org/10.14317/jami.2018.369

ON p-ADIC EULER L-FUNCTION OF TWO VARIABLES[†]

MIN-SOO KIM

ABSTRACT. We consider a p-adic Euler L-function of two variables which interpolate the generalized Euler polynomials at nonpositive integers. We also show that the reflection formula and the functional equation for these functions.

AMS Mathematics Subject Classification : 11B68, 11S40, 11S80. Key words and phrases : Euler number and polynomials, p-adic Euler L-function.

1. Introduction

Let p be an odd prime number. Let \mathbb{Q}_p be the topological completion of \mathbb{Q} with respect to the metric topology induced by $|\cdot|_p$. Let \mathbb{C}_p be the field of padic completion of algebraic closure of \mathbb{Q}_p . Let v_p denote the p-adic exponential valuation on \mathbb{C}_p , normalized so that $v_p(p) = 1$.

For a primitive Dirichlet character χ with odd conductor f_{χ} , the generalized Euler polynomials $E_{n,\chi}(t)$ are defined by the generating function

$$2\sum_{a=1}^{f_{\chi}} \frac{(-1)^a \chi(a) e^{(a+t)x}}{e^{f_{\chi}x} + 1} = \sum_{n=0}^{\infty} E_{n,\chi}(t) \frac{x^n}{n!}$$
(1)

(see [5, 9, 16, 19]). The corresponding generalized Euler numbers can be defined by $E_{n,\chi} = E_{n,\chi}(0)$. With this definition, the generalized Euler polynomials can also be expressed in terms of the expansion

$$E_{n,\chi}(t) = \sum_{k=0}^{n} \binom{n}{k} E_{n-k,\chi} t^{k},$$
(2)

which may be derived from (1). Let $\mathbb{Q}(\chi)$ denote the field generated over \mathbb{Q} by all the values $\chi(a), a \in \mathbb{Z}$. Then it can be shown that $E_{n,\chi} \in \mathbb{Q}(\chi)$ for each

Received April 7, 2018. Revised August 10, 2018. Accepted August 16, 2018.

[†]This work was supported by the Kyungnam University Foundation Grant, 2017.

^{© 2018} Korean SIGCAM and KSCAM.

 $n \geq 0$, and $E_{n,\chi}(t) \in \mathbb{Q}(\chi, t)$. Recently, many authors have studied these and other related subject (see, e.g., [8, 14, 15]).

The *p*-adic analogue of Dirichlet *L*-functions were introduced and studied by Kubota and Leopoldt [11]. It becomes quite important in number theory after the works of Iwasawa [4], particularly in the theory of cyclotomic fields [12] and *p*-adic modular forms [22]. Recently, properties for several variations of Kubota-Leopoldt's *p*-adic *L*-functions have been studied by many authors (see [2, 4, 9, 13, 17, 18, 19, 23, 21, 24, 25]). And the *p*-adic functions which interpolate the Bernoulli and Euler polynomials have also been investigated by Tsumura [23], Kim [5, 6, 7], Cohn [1] and Young [20]. The constructions are based on *p*-adic gamma transforms, although Tsumura, Kim, Cohn and Young applied this technique to different areas of *p*-adic complex plane \mathbb{C}_p .

The two variable p-adic L-functions have been studied by Fox [2], Simsek [19] and Young [21]. These functions interpolate the generalized Bernoulli polynomials at nonpositive integers. By using these functions, Kummer's congruences for generalized Bernoulli polynomials are established.

In this paper, we construct the *p*-adic Euler *L*-functions $L_{p,E}(s,t;\chi)$ which interpolate the generalized Euler polynomials $E_{n,\chi}(t)$ at nonpositive integers, in analogue with Fox's construction of *p*-adic *L*-functions of two variable $L_p(s,t;\chi)$ in [2]. The methods follow from Iwasawa's construction of *p*-adic *L*-functions in [4, Chapter 3] not involving the *p*-adic gamma transforms. We also prove several properties of $L_{p,E}(s,t;\chi)$, such as the reflection formula and the functional equation.

2. Construction of the *p*-adic Euler *L*-function $L_{p,E}(s,t;\chi)$

Throughout this paper, let p be an odd rational prime number.

In this section, by applying the method of Fox [2, Theorem 3.13] on the existence of a specific two-variable *p*-adic *L*-function, we construct the *p*-adic function $L_{p,E}(s,t;\chi)$ and we also express them in an explicit form.

Note that there exist $\varphi(p)$ distinct solutions, modulo p, to the equation $x^{\varphi(p)} - 1 = 0$, and each solution must be congruent to one of the values $a \in \mathbb{Z}$, where $1 \leq a \leq p, (a, p) = 1$. Thus, by Hensel's Lemma, given $a \in \mathbb{Z}$ with (a, p) = 1, there exists a unique $\omega(a) \in \mathbb{Z}_p$, where $\omega(a)^{\varphi(p)} = 1$, such that $\omega(a) \equiv a \pmod{p\mathbb{Z}_p}$. Letting $\omega(a) = 0$ for $a \in \mathbb{Z}$ such that $(a, p) \neq 1$, it can be seen that ω is actually a Dirichlet character having conductor $f_{\omega} = p$, called the Teichmüller character. Let $\langle a \rangle = \omega^{-1}(a)a$. Then $\langle a \rangle \equiv 1 \pmod{p\mathbb{Z}_p}$.

If $t \in \mathbb{C}_p$ such that $|t|_p \leq 1$, then for any $a \in \mathbb{Z}, a + pt \equiv a \pmod{p\mathbb{Z}_p[t]}$. Thus, we define $\omega(a + pt) = \omega(a)$ for these values of t. We also define $\langle a + pt \rangle = \omega^{-1}(a)(a+pt)$ for such t. Therefore, $\langle a+pt \rangle = \langle a \rangle + p\omega^{-1}(a)t$, so that $\langle a+pt \rangle \equiv 1 \pmod{p\mathbb{Z}_p[t]}$.

We also define a particular subring of \mathbb{C}_p by

$$D = \left\{ s \in \mathbb{C}_p : v_p(s) > -1 + \frac{1}{p-1} \right\}.$$

Since $1 \in D$ and any point of a *p*-adic disc is its center, *D* is the same as the set $D = \{s \in \mathbb{C}_p : v_p(1-s) > -1 + \frac{1}{p-1}\}.$

To our purpose, we shall need to make a slight extension of the definition of p-adic Euler L-functions. Additional informations about these functions can be found in [10].

Let χ be the Dirichlet character with odd conductor $f = f_{\chi}$, $\mathbb{N}_0 = \mathbb{N} \cup \{0\}$. Let $\mathbb{Q}_p(\chi)$ denote the field generated over \mathbb{Q}_p by $\chi(a), a \in \mathbb{Z}$ (in an algebraic closure of \mathbb{Q}_p). $\mathbb{Q}_p(\chi)$ is a locally compact topological field containing $\mathbb{Q}(\chi)$ as a dense subfield. Let $t \in \mathbb{C}_p, |t|_p \leq 1$, and let $\mathbb{Q}_p(\chi, t)$, the field generated over \mathbb{Q}_p by adjoining t and the values $\chi(a), a \in \mathbb{Z}$. For $n \in \mathbb{N}$, we define χ_n to be the primitive character associated with the character $\chi_n : (\mathbb{Z}/\text{l.c.m.}(f, p)\mathbb{Z})^{\times} \to \mathbb{C}^{\times}$ defined by $\chi_n(a) = \chi(a)\omega^{-n}(a)$. We define a sequence of elements $\epsilon_{n,\chi}(t), n \geq 0$, in $\mathbb{Q}_p(\chi, t)$ by

$$\epsilon_{n,\chi}(t) = E_{n,\chi_n}(pt) - \chi_n(p)p^n E_{n,\chi_n}(t), \qquad (3)$$

where $E_{n,\chi_n}(t)$ is the generalized Euler polynomial and $n \in \mathbb{N}_0$. Note that $\chi_n(a)$ is in $\mathbb{Q}_p(\chi)$ for any $n \in \mathbb{N}_0$ and $a \in \mathbb{Z}$.

In what follows, we construct a *p*-adic *L*-function of two variables which interpolates the generalized Euler polynomials at nonpositive integers. First, we need the following two lemmas.

Lemma 2.1 ([10, Proposition 5.4(2)]). If $n \in \mathbb{Z}$ and $n \ge 0$, then there exists a Witt's formula of $E_{n,\chi}(t)$ in the p-adic field $\mathbb{Q}_p(\chi, t)$ such that

$$E_{n,\chi}(t) = \lim_{N \to \infty} \sum_{a=1}^{fp^{N}} (-1)^{a} \chi(a) (a+t)^{n},$$

where we set $\chi(a) = 0$ if a is not prime to the conductor f.

Lemma 2.2. In the p-adic field $\mathbb{Q}_p(\chi, t)$, for $n \in \mathbb{Z}, n \geq 0$, we have

$$E_{n,\chi}(t) - \chi(p)p^{n}E_{n,\chi}\left(\frac{t}{p}\right) = \lim_{N \to \infty} \sum_{\substack{a=1\\(a,p)=1}}^{fp^{N}} (-1)^{a}\chi(a)(a+t)^{n}.$$

Proof. From Lemma 2.1, we see that

$$E_{n,\chi}(t) - \chi_n(p)p^n E_{n,\chi}\left(\frac{t}{p}\right)$$

= $\lim_{N \to \infty} \left(\sum_{a=1}^{fp^N} (-1)^a \chi(a)(a+t)^n - \sum_{a=1}^{fp^N-1} (-1)^{ap} \chi(ap)(ap+t)^n \right)$
= $\lim_{N \to \infty} \sum_{\substack{a=1\\(a,p)=1}}^{fp^N} (-1)^a \chi(a)(a+t)^n,$

since p is an odd prime number.

Now we consider a p-adic Euler L-function of two variables and we also compute its value at nonpositive integers.

Define

$$L_{p,E}(s,t;\chi) = \lim_{N \to \infty} \sum_{\substack{a=1\\(a,p)=1}}^{fp^{N}} (-1)^{a} \chi(a) \langle a+pt \rangle^{1-s},$$
(4)

which is analytic for $s \in D$ and $t \in \mathbb{C}_p$ such that $|t|_p \leq 1$.

Theorem 2.3. For $n \in \mathbb{N}$ and $t \in \mathbb{C}_p$ such that $|t|_p \leq 1$, we have

$$L_{p,E}(1-n,t;\chi) = \epsilon_{n,\chi}(t).$$

Proof. Let $n \in \mathbb{N}$ and $t \in \mathbb{C}_p$ such that $|t|_p \leq 1$. From (4), we obtain

$$L_{p,E}(1-n,t;\chi) = \lim_{N \to \infty} \sum_{\substack{a=1 \\ (a,p)=1}}^{fp^{N}} (-1)^{a} \chi(a) \langle a+pt \rangle^{n}$$

$$= \lim_{N \to \infty} \sum_{\substack{a=1 \\ (a,p)=1}}^{fp^{N}} (-1)^{a} \chi(a) \omega^{-n}(a) (a+pt)^{n}.$$
 (5)

Therefore by Lemma 2.2, we have

$$L_{p,E}(1-n,t;\chi) = \lim_{N \to \infty} \left(\sum_{a=1}^{fp^{N}} (-1)^{a} \chi_{n}(a)(a+pt)^{n} - \sum_{a=1}^{fp^{N-1}} (-1)^{ap} \chi_{n}(ap)(ap+pt)^{n} \right)$$
(6)
= $E_{n,\chi_{n}}(pt) - \chi_{n}(p)p^{n}E_{n,\chi_{n}}(t)$
= $\epsilon_{n,\chi}(t).$

This is the desired result.

Define the forward difference operator Δ_c by the equation

$$\Delta_c a_n = a_{n+c} - a_n,\tag{7}$$

where a_n denotes a function of n, that is, $a_n = a(n)$. The power Δ_c^k of Δ_c are defined by Δ_c^0 =identity and $\Delta_c^k = \Delta_c \circ \Delta_c^{k-1}$ for positive integers k. The following is a fundamental result for the kth difference of the function a_n , which can be found in [3, p. 196].

Lemma 2.4. Let Δ be forward difference operator, which assigns to every function $a_n \in A^{\mathbb{R}}$, defined on the real numbers, and with values in a ring A. Then

$$\Delta_c^k a_n = \sum_{j=0}^k \binom{k}{j} (-1)^{k-j} a_{n+jc}$$

for some nonnegative integer $k \in \mathbb{Z}$.

In particular, Fox [3, Lemma 5] derives the following congruence property of $\langle a + pt \rangle^m$ by elementary means:

Lemma 2.5. Let $a, m \in \mathbb{Z}$, with (a, p) = 1 and $m \ge 2$, and let $t \in \mathbb{C}_p$ such that $|t|_p \le 1$. Then

$$\langle a+pt\rangle^m - 1 \equiv m(\langle a\rangle - 1 + p\omega^{-1}(a)t) \pmod{m(m-1)p^2 \mathbb{Z}_p[t]}.$$

Theorem 2.6. If $c, k, n \ge 1$ and $t \in \mathbb{C}_p$ such that $|t|_p \le 1$. Then

$$c^{-k}p^{-k}\Delta_c^k\epsilon_{n,\chi}(t) \in \mathbb{Z}_p[\chi, t].$$

Proof. Let $t \in \mathbb{C}_p$ such that $|t|_p \leq 1$. An application of Theorem 2.3 and Lemma 2.4 to the sequence $\{\Delta_c^k \epsilon_{n,\chi}(t)\}$ yields

$$\Delta_c^k \epsilon_{n,\chi}(t) = \Delta_c^k L_{p,E}(1-n,t,\chi) = \lim_{N \to \infty} \sum_{\substack{n \to \infty \\ (a,p)=1}}^{fp^N} (-1)^a \chi(a) \langle a+pt \rangle^n,$$

where $c, n, k \geq 1$. Note that

$$\begin{split} \Delta_c^k \langle a + pt \rangle^n &= \sum_{j=0}^k \binom{k}{j} (-1)^{k-j} \langle a + pt \rangle^{n+jc} \\ &= \langle a + pt \rangle^n \sum_{j=0}^k \binom{k}{j} (-1)^{k-j} \langle a + pt \rangle^{jc} \\ &= \langle a + pt \rangle^n (\langle a + pt \rangle^c - 1)^k, \end{split}$$

so that,

$$\begin{aligned} \Delta_{c}^{k} \epsilon_{n,\chi}(t) &= \Delta_{c}^{k} L_{p,E}(1-n,t,\chi) \\ &= \sum_{j=0}^{k} \binom{k}{j} (-1)^{k-j} \lim_{N \to \infty} \sum_{\substack{a=1 \\ (a,p)=1}}^{fp^{N}} (-1)^{a} \chi(a) \langle a+pt \rangle^{n} (\langle a+pt \rangle^{c}-1)^{k}. \end{aligned}$$
(8)
$$&= \lim_{N \to \infty} \sum_{\substack{a=1 \\ (a,p)=1}}^{fp^{N}} (-1)^{a} \chi(a) \langle a+pt \rangle^{n} (\langle a+pt \rangle^{c}-1)^{k}. \end{aligned}$$

By Lemma 2.5, we obtain $(\langle a+pt\rangle^c -1)^k \equiv 0 \pmod{c^k p^k \mathbb{Z}_p[t]}$ and $\Delta_c^k \epsilon_{n,\chi}(t) \equiv 0 \pmod{c^k p^k \mathbb{Z}_p[\chi, t]}$.

Corollary 2.7. Let $n' \in \mathbb{Z}$ such that $n' > n \ge 1$ and let $t \in \mathbb{C}_p$ with $|t|_p \le 1$. Then

$$\Delta_c^k \epsilon_{n,\chi}(t) \equiv \Delta_c^k \epsilon_{n',\chi}(t) \pmod{(n'-n)c^k p^{k+1} \mathbb{Z}_p[\chi,t]}.$$

Proof. From (8), we have

$$\Delta_c^k \epsilon_{n',\chi}(t) - \Delta_c^k \epsilon_{n,\chi}(t) = \lim_{N \to \infty} \sum_{\substack{a=1 \\ (a,p)=1}}^{fp^N} (-1)^a \chi(a) \langle a + pt \rangle^n \times (\langle a + pt \rangle^c - 1)^k (\langle a + pt \rangle^{n'-n} - 1).$$

By Lemma 2.5, we obtain $(\langle a + pt \rangle^c - 1)^k (\langle a + pt \rangle^{n'-n} - 1) \equiv 0 \pmod{(n' - n)c^k p^{k+1}\mathbb{Z}_p[t]}$, and the result follows.

We denote two particular subrings of \mathbb{C}_p in the following manner

$$\mathfrak{o} = \{t \in \mathbb{C}_p : |t|_p \le 1\}, \quad \mathfrak{p} = \{t \in \mathbb{C}_p : |t|_p < 1\}.$$

If $t \in \mathbb{C}_p$ such that $|t|_p \leq |p|_p^s$, then $t \in p^s \mathfrak{o}$ for $s \in \mathbb{Q}$, and we also write this as $t \equiv 0 \pmod{p^s \mathfrak{o}}$ as usual. Let

$$c_{n,\chi}(t) = \sum_{i=0}^{n} \binom{n}{i} (-1)^{n-i} \epsilon_{i,\chi}(t)$$

for all $t \in \mathbb{C}_p$ with $|t|_p \leq 1$. We now derive our bound on the magnitude of $c_{n,\chi}(t)$.

Lemma 2.8.

$$|c_{n,\chi}(t)|_p \le |p^n|_p, \quad n \ge 0$$

Proof. From the definition of $\epsilon_{i,\chi}$ and (5), we have

$$c_{n,\chi}(t) = \sum_{i=0}^{n} \binom{n}{i} (-1)^{n-i} \lim_{N \to \infty} \sum_{\substack{a=1\\(a,p)=1}}^{fp^{N}} (-1)^{a} \chi(a) \langle a+pt \rangle^{i}$$
$$= \lim_{N \to \infty} \sum_{\substack{a=1\\(a,p)=1}}^{fp^{N}} (-1)^{a} \chi(a) (\langle a+pt \rangle -1)^{n}.$$

Since $\langle a + pt \rangle \equiv 1 \pmod{p\mathfrak{o}}$ then $(\langle a + pt \rangle - 1)^n \equiv 0 \pmod{p^n\mathfrak{o}}$, we conclude that

$$|c_{n,\chi}(t)|_{p} = \lim_{N \to \infty} \left| \sum_{\substack{a=1\\(a,p)=1}}^{fp^{*}} (-1)^{a} \chi(a) (\langle a+pt \rangle -1)^{n} \right|_{p}$$
$$= \lim_{N \to \infty} |p^{n} \theta_{n}(N,t)|_{p} \le |p^{n}|_{p},$$

because

$$\sum_{\substack{a=1\\(a,p)=1}}^{fp^N} (-1)^a \chi(a) (\langle a+pt\rangle -1)^n = p^n \theta_n(N,t)$$

for some $\theta_n(N,t)$ with $|\theta_n(N,t)|_p \leq 1$. This is the desired result.

374

Now we apply Theorem 1 in [4, p. 22] to the above sequences $\epsilon_{n,\chi}(t)$ and $c_{n,\chi}(t)$, $n \ge 0$, in $\mathbb{Q}_p(\chi, t)$ and for

$$r = |p|_p < |p|_p^{1/(p-1)}.$$

This theorem shows that there exists a unique power series $A_{\chi,t}(x) \in \mathbb{Q}_p(\chi,t)[[x]]$ convergent for $|\xi|_p < |p|_p^{1/(p-1)}|p|_p^{-1} = |p|_p^{-(p-2)/(p-1)}$ which takes the prescribed values at the nonnegative integers, that is,

$$A_{\chi,t}(n) = \epsilon_{n,\chi}(t).$$

Denote by

$$L_{p,E}(s,t;\chi) = A_{\chi,t}(1-s).$$

We have the following theorem.

Theorem 2.9. Let χ be a Dirichlet character with odd conductor f. For each $t \in \mathbb{C}_p$, with $|t|_p \leq 1$, there exists a unique p-adic analytic function

$$L_{p,E}(s,t;\chi) = \sum_{n=0}^{\infty} (-1)^n a_n(t)(s-1)^n, \quad a_n(t) \in \mathbb{Q}_p(\chi,t)$$

on $\{s \in \mathbb{C}_p : |s-1|_p < p^{-(p-2)/(p-1)}\}$ such that

 $L_{p,E}(1-n,t;\chi) = \epsilon_{n,\chi}(t), \quad n \ge 1.$

3. Properties of $L_{p,E}(s,t;\chi)$

This section will show some properties of the *p*-adic function $L_p(s,t;\chi)$ constructed above, including the reflection formula (see Theorem 3.3) and the functional equation (see Theorem 3.4). And in what follows, let *p* be an odd prime and χ a Dirichlet character with odd conductor $f = f_{\chi}$.

The polynomials $E_{n,\chi}(t)$ has the property that, for all $n \ge 0$,

$$E_{n,\chi}(-t) = (-1)^{n-1}\chi(-1)E_{n,\chi}(t)$$
(9)

if $\chi \neq 1$. From (1), if $\chi = 1$, we recover the original Euler polynomials, that is, $E_{n,1}(x) = E_n(x)$.

Lemma 3.1. For all $n \in \mathbb{Z}, n \ge 0$, we have

$$E_{n,1}(-t) = (-1)^{n-1} E_{n,1}(t) - (-1)^{n-1} 2t^n.$$

Proof. The formula holds for n = 0 because $E_{0,1}(t) = 1$. If $n \ge 1$, then since $E_{n,1}(0) = 0$ for even $n \ge 2$, we may write (2) in the form

$$E_{n,1}(t) = \sum_{k=0}^{n} \binom{n}{k} E_{n-k,1}(0) t^{k}$$
$$= \sum_{\substack{k=0\\n-k \text{ odd}}}^{n} \binom{n}{k} E_{n-k,1}(0) t^{k} + E_{0,1}(0) t^{n}.$$

Any k such that n - k is odd must have the different parity as n. Hence

$$E_{n,1}(-t) = (-1)^{n-1} \sum_{\substack{k=0\\n-k \text{ odd}}}^{n} {\binom{n}{k}} E_{n-k,1}(0)t^k + (-1)^n E_{0,1}(0)t^n$$
$$= (-1)^{n-1} E_{n,1}(t) - (-1)^{n-1} 2E_{0,1}(0)t^n$$
$$= (-1)^{n-1} E_{n,1}(t) - (-1)^{n-1} 2t^n,$$

the lemma then follows.

Lemma 3.2. For all $n \in \mathbb{Z}, n \ge 0$, we have

$$\epsilon_{n,\chi}(-t) = -\chi(-1)\epsilon_{n,\chi}(t)$$

Proof. This is true for n = 0 since $\epsilon_{0,\chi}(-t) = -\chi(-1)\epsilon_{0,\chi}(t)$ and $\epsilon_{0,1}(-t) = -\epsilon_{0,1}(t)$. So we assume that $n \ge 1$.

First we consider the cases of $\chi_n = 1$. From Lemma 3.1, we obtain

$$\begin{aligned} \epsilon_{n,1}(-t) &= E_{n,1}(-pt) - p^n E_{n,1}(-t) \\ &= (-1)^{n-1} E_{n,1}(pt) - (-1)^{n-1} 2(pt)^n \\ &- p^n((-1)^{n-1} E_{n,1}(t) - (-1)^{n-1} 2t^n) \\ &= (-1)^{n-1} (E_{n,1}(pt) - p^n E_{n,1}(t)) \\ &= (-1)^{n-1} \epsilon_{n,1}(t). \end{aligned}$$

Therefore the lemma holds for $\chi_n = 1$.

Next we assume that $\chi_n \neq 1$. Then, from (9), we have

$$\begin{aligned} \epsilon_{n,\chi}(-t) &= E_{n,\chi_n}(-pt) - \chi_n(p)p^n E_{n,\chi_n}(-t) \\ &= (-1)^{n-1} \chi_n(-1) E_{n,\chi_n}(pt) - \chi_n(p)p^n(-1)^{n-1} \chi_n(-1) E_{n,\chi_n}(t) \\ &= (-1)^{n-1} \chi_n(-1) (E_{n,\chi_n}(pt) - \chi_n(p)p^n E_{n,\chi_n}(t)) \\ &= (-1)^{n-1} \chi_n(-1) \epsilon_{n,\chi}(t) \\ &= -\chi(-1) \epsilon_{n,\chi}(t), \end{aligned}$$

since $\chi_n(-1) = (-1)^n \chi(-1)$. Thus the lemma also holds for $\chi_n \neq 1$. This completes the proof of our assertion.

Theorem 3.3 (Reflection formula). Let $s \in D$ and $t \in \mathbb{C}_p$ such that $|t|_p \leq 1$. Then

$$L_{p,E}(s, -t; \chi) = -\chi(-1)L_{p,E}(s, t; \chi).$$

Proof. From Lemma 3.2, we have $\epsilon_{n,\chi}(-t) = -\chi(-1)\epsilon_{n,\chi}(t)$, then using Theorem 2.9, we see this implies $L_{p,E}(s, -t; \chi) = -\chi(-1)L_{p,E}(s, t; \chi)$.

Now, by (1) we obtain

$$(-1)^{m-1}E_{n,\chi}(t+mf) + E_{n,\chi}(t) = 2\sum_{a=1}^{mf} (-1)^a \chi(a)(t+a)^n, \qquad (10)$$

where χ is the Dirichlet character with odd conductor $f = f_{\chi}$ and $m \ge 1$. For the character χ , let $F_0 = \text{l.c.m}(f, p)$. Then we have $\chi_n \mid F_0$ for each $n \in \mathbb{Z}$. We also denote F a positive multiple of F_0 .

Theorem 3.4 (Functional equation). Let $s \in D$ and $t \in \mathbb{C}_p$ such that $|t|_p \leq 1$. Then we have

$$L_{p,E}(s,t+F;\chi) + L_{p,E}(s,t;\chi) = 2\sum_{\substack{a=1\\(p,a)=1}}^{pF} (-1)^a \chi(a) \langle a+pt \rangle^{1-s}.$$
 (11)

Proof. Let $t \in \mathbb{C}_p$ such that $|t|_p \leq 1$, and let $n \geq 1$. Then from Theorem 2.3, we have

$$L_{p,E}(1-n,t+F;\chi) + L_{p,E}(1-n,t;\chi) = \epsilon_{n,\chi}(t+F) + \epsilon_{n,\chi}(t).$$
(12)

By using (3) and (10), we have

$$\epsilon_{n,\chi}(t+F) + \epsilon_{n,\chi}(t) = E_{n,\chi_n}(p(t+F)) - \chi_n(p)p^n E_{n,\chi_n}(t+F) + E_{n,\chi_n}(pt) - \chi_n(p)p^n E_{n,\chi_n}(t) = E_{n,\chi_n}(p(t+F)) + E_{n,\chi_n}(pt) - \chi_n(p)p^n (E_{n,\chi_n}(t+F) + E_{n,\chi_n}(t)) = 2\sum_{a=1}^{pF} (-1)^a \chi_n(a)(pt+a)^n - \chi_n(p)p^n 2\sum_{a=1}^{F} (-1)^a \chi_n(a)(t+a)^n.$$
(13)

We also note that

$$\chi_n(p)p^n 2\sum_{a=1}^F (-1)^a \chi_n(a)(t+a)^n = 2\sum_{a=1}^F (-1)^{pa} \chi_n(pa)(pt+pa)^n$$

$$= 2\sum_{\substack{a=1\\p\mid a}}^{pF} (-1)^a \chi_n(a)(pt+a)^n.$$
(14)

Substitution the above equality into (13), we have

$$\epsilon_{n,\chi}(t+F) + \epsilon_{n,\chi}(t) = 2\sum_{a=1}^{pF} (-1)^a \chi_n(a)(pt+a)^n - 2\sum_{\substack{a=1\\p\mid a}}^{pF} (-1)^a \chi_n(a)(pt+a)^n$$
$$= 2\sum_{\substack{a=1\\(p,a)=1}}^{pF} (-1)^a \chi_n(a)(pt+a)^n.$$

From which, by using (12), we conclude that for $n \ge 1$,

$$L_{p,E}(1-n,t+F;\chi) + L_{p,E}(1-n,t;\chi) = 2\sum_{\substack{a=1\\(p,a)=1}}^{pF} (-1)^a \chi_n(a)(pt+a)^n$$
$$= 2\sum_{\substack{a=1\\(p,a)=1}}^{pF} (-1)^a \chi(a) \langle a+pt \rangle^n,$$

since $\chi_n = \chi \omega^{-n}$. Thus Theorem 3.4 holds for all s = 1 - n, where $n \ge 1$. Since the negative integers have 0 as a limit point, using the uniqueness property for power series in [4, p. 19, Lemma 1], we have shown that Theorem 3.4 holds for all s in any neighborhood about 0 common to the domain of the functions on either side of (11).

It is obvious that the definition domains in the variable s of the functions on the left hand-side of (11) contain D. For $t \in \mathbb{C}_p$, $|t|_p \leq 1$, the same argument as the proof of Theorem 4.8 of [2] shows that

$$2\sum_{\substack{a=1\\(p,a)=1}}^{pF} (-1)^a \chi(a) \langle a+pt \rangle^{1-s}$$

is convergence as a power series of s, whenever $s \in D$. Therefore, the definition domains of the functions on either side of (11) contain D, and our theorem holds.

Acknowledgement

The author would like to thank Prof. Su Hu for his helpful comments and suggestions.

References

- H. Cohen, Number Theory Vol. II: Analytic and Modern Tools, Graduate Texts in Mathematics 240, Springer, New York, 2007.
- 2. G.J. Fox, A p-adic L-function of two variables, Enseign. Math., II. Ser. 46 (2000), 225–278.
- G.J. Fox, Kummer congruences for expressions involving generalized Bernoulli polynomials, J. Thor. Nombres Bordeaux 14 (2002), no. 1, 187–204.
- K. Iwasawa, Lectures on p-adic L-functions, Ann. Math. Studies 74, Princeton, New Jersey, 1972.
- T. Kim, On the analogs of Euler numbers and polynomials associated with p-adic q-integral on Z_p at q = −1, J. Math. Anal. Appl. **331** (2007), no. 2, 779–792.
- T. Kim, Euler numbers and polynomials associated with Zeta functions, Abstr. Appl. Anal., Art. ID 581582, 2008.
- T. Kim, On p-adic interpolating function for q-Euler numbers and its derivatives, J. Math. Anal. Appl. 339 (2008), 598–608.
- M.-S. Kim, A representation of Dedekind sums with quasi-periodicity Euler functions, J. Appl. Math. Inform. 35 (2017), no. 5-6, 449–457.

- M.-S. Kim, T. Kim, D.K. Park and J.-W. Son, On a two-variable p-adic l_q-function, Abstr. Appl. Anal. 2008, Art. ID 360517, 10 pp.
- M.-S. Kim and S. Hu, On p-adic Hurwitz-type Euler zeta functions, J. Number Theory 132 (2012), 2977–3015.
- T. Kubota and H.-W. Leopoldt, *Eine p-adische Theorie der Zetawerte*, J. Reine Angew. Math. **214/215** (1964), 328–339.
- S. Lang, Cyclotomic fields I and II. Combined second edition. With an appendix by Karl Rubin. Graduate Texts in Mathematics, 121. Springer-Verlag, New York, 1990.
- 13. H. Ozden and Y. Simsek, A new extension of q-Euler numbers and polynomials related to their interpolation functions, Appl. Math. Lett. 21 (2008), 934–939.
- C.S. Ryoo, On the (p,q)-analogue of Euler zeta function, J. Appl. Math. Inform. 35 (2017), no. 3-4, 303–311.
- C.S. Ryoo, Identities of symmetry for generalized Carlitz's q-tangent polynomials associated with p-adic integral on Z_p, J. Appl. Math. Inform. **36** (2018), no. 1-2, 115–120.
- C.S. Ryoo, T. Kim and L.C. Jang, A note on generalized Euler numbers and polynomials, Int. J. Comput. Math. 84 (2007), no. 7, 1099–1111.
- K. Shiratani and S. Yamamoto, On a p-adic interpolation function for the Euler numbers and its derivatives, Mem. Fac. Sci. Kyushu Univ. Ser. A 39 (1985), 113–125.
- Y. Simsek, q-analogue of twisted l-series and q-twisted Euler numbers, J. Number Theory 110 (2005), 267–278.
- Y. Simsek, On twisted q-Hurwitz zeta function and q-two-variable L-function, Appl. Math. Comput. 187 (2007), 466–473.
- P. Young, Congrunces for Bernoulli, Euler, and Stirling numbers, J. Number Theory 78 (1999), 204–227.
- P. Young, On the behavior of some two-variable p-adic L-functions, J. Number Theory 98 (2003), no. 1, 67–88.
- J.-P. Serre, Formes modulaires et fonctions zêta p-adiques, Modular functions of one variable III (Proc. Internat. Summer School, Univ. Antwerp, 1972), pp. 191–268, Lecture Notes in Math.350, Springer, Berlin, 1973.
- H. Tsumura, On a p-adic interpolation of the generalized Euler numbers and its applications, Tokyo J. Math. 10 (1987), 281–293.
- 24. L.C. Washington, A note on p-adic L-functions, J. Number Theory 8 (1976) 245-250.
- L.C. Washington, Introduction to Cyclotomic Fields, Second Edition, Graduate Texts in Mathematics 83, Springer, 1996.

Min-Soo Kim received Ph.D. degree from Kyungnam University. His main research area is analytic number theory. Recently, his main interests focus on *p*-adic analysis and zeta functions, Bernoulli and Euler numbers and polynomials.

Division of Mathematics, Science, and Computers, Kyungnam University, 7(Woryeongdong) kyungnamdaehak-ro, Masanhappo-gu, Changwon-si, Gyeongsangnam-do 51767, Korea

e-mail: mskim@kyungnam.ac.kr